Name: Date:

Lesson 13.3 Histograms

Draw a histogram for the data set. Include a title.

~—— Example ~

The table shows the heights (in centimeters) of 30 students in Mrs. Sandy’s class.

Height (cm) 140-144 145-149 150-154 155-159 160-164 165-169

Frequency 2 5 7 8 6 2

Height of Mrs. Sandy’s Students

The horizontal axis

2 represents continuous
§ intervals, so there are

g no gaps between the

w bars.

9
N X 7 S A @,\Q’
'\D‘ \D‘ '\@ '\@ \‘b \Q’
Height (cm)
\_ J
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Name:

Date:

1. The table shows the parking times (in minutes) of 20 cars.

Parkin? Time Frequency
(min)
0-29 3
30-59 >
60-89 8
90-119 3
120-149 L

Frequency

Parking Time

a9 a 9
2 o) D AN WX
Q” Q” N
> [N '\q/Q’
Time (min)

2. The table shows the distances (in kilometers) between the homes of 25 students and

the recreation center.

Distance (km)

1-2

3-4

9-10

Frequency

Reteach Course 1B
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Name: Date:

Group the data set into suitable intervals. Draw a histogram for each set of
interval then, compare the histograms.

~—— Example

172

The time, in minutes, it takes 30 people to drive a certain distance is shown by
the data below.

35 60 41 65 45 80 35 55 60 42
58 45 45 68 50 31 65 70 40 55
64 48 60 39 54 65 50 65 50 38

a) Group the data into 5 intervals. Display the data in a histogram.
b) Group the data into 7 intervals. Display the data in a histogram.

c) Compare the two histograms.

The greatest value in the data set is i, and the least value in the data
setis__ o

Range: &0 _ 3 = 49

To make 5 intervals, use 49 = 5 =-_98 and round

up to L in each interval. To make 7 intervals, use 49 = 7
or — 7 ineach interval.

Chapter 13 Lesson 13.3
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Name:

a)

b)

5 intervals

Date:

Time (min) | 31-40 | 41-50 | 51-60

61-70

71-80

Frequency 6 9 7

Driving Time

Frequency
o

0
O & @ 40 o0
(b\/b& D‘\,@ 6\,@ @\,’\ (\\;b

Time (min)

7 intervals

Time (min) | 31-37 | 38-44 | 45-51

52-5&

59-65

66-72

73-60

Frequency 3 5 7
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Name: Date:

Driving Time

Frequency

A Ix
%
o

0% o @‘D (b@ (\q, ?70
o W8 W

Time (min)

¢) The 5-interval histogram is easier to group and draw than the
7-interval histogram. But the spread of the data is revealed
better in the 7-interval histogram.

From the two histograms, it can be seen that 80 is the
outlier. It stands apart from the other data.

© Marshall Cavendish International (Singapore) Private Limited.
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Name:

Date:

a fun run.

3. The data shows the time (in minutes) taken by 24 students to complete

25 35 42 28 58 45
38 52 37 45 45 30
50 35 55 30 48 40

35 60
50 40
39 69

The greatest value in the data set is

set is

Range: - =

To make 5 intervals, use -

, and the least value in the data

= and

round up to

+ , or

a) Group the data into 5 intervals.

in each interval. To make 7 intervals, use

in each interval.

Time (min) 15-33 34-42

43-51 52-60 61-69

Frequency 4

Display the data in a histogram.

Time Taken to Complete a Fun Run

Frequency

5 0 N @
NS L S
DA AR

Time (min)
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Name: Date:

b) Group the data into 7 intervals.

Time (min)

Frequency

Display the data in a histogram.

c¢) Compare the two histograms.

© Marshall Cavendish International (Singapore) Private Limited.
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Name: Date:

4. The data shows the length (in centimeters) of 30 different species of fish.

3 12 5 6 12 16 6 20 4 14
25 21 10 11 5 15 4 18 10 8
18 11 24 10 15 14 12 9 30 15

a) Group the data into two suitable intervals and tabulate them.

b) Draw a histogram for each set of interval.

Histogram 1:

© Marshall Cavendish International (Singapore) Private Limited.
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Name: Date:

Histogram 2:

c) Compare the two histograms.
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Name: Date:

Describe the data from the histogram.

—— Example ~

The histogram shows the daily wages of a group of workers in a factory.
Briefly describe the data.

Daily Wages of Workers

N
o

—_
oo

=
o
|

Y
S
|

—
N

—_
o

Number of Workers

o]

> P o PP
O 4 & N
VAT N A

Daily Wage ($)

62

There are workers in the group. Most of the workers earn

$75 to $64 daily. The daily wage spans from $70 to $104

So, the range is _$34 The histogram has a tail to the _right

Most of the data is to the right of the most frequent value. So, the histogram

is right skewed

© Marshall Cavendish International (Singapore) Private Limited.
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Name: Date:

5. The histogram shows the mass of strawberries harvested from
40 strawberry plants.

Mass of Strawberries Harvested Most of the strawberry plants harvested
12
1" to kilograms of
10 strawberries. The mass of strawberries
9 harvested spans from to
8 . .
So, therangeis— . The histogram
7
has a tailtothe . Most of the data

is to the left of the most frequent value.

Number of Strawberry Plants

So, the histogram is

G 0 & P B> o
SN {1:\;1, q,b"b

Mass (kg)

6. The histogram shows the ages of the members of a recreational club.

Age of Members of a Recreational Club

(O
o
|

N
o
l

Number of Members
N w
S S
| |

-
o
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Lesson13.3

1.

Car Parking Time

Frequency

11T _l_
0 Q q Q a Qq
Q/q/ 0/6) 0/% /\'\ /'\b‘
> © 0\0 rLQ
N

Parking Time (min)

Distances Between Homes
and the Recreation Center
8
7
6
g g
[
=]
§ 4t
w
3 .
2 . S
1 —_ —————
0 2 M b > Q
N oy T A7 0\/'\
Distance (km)
The greatest value in the data set is 69,

and the least value in the data set is 25.
Range: 69 — 25 = 44

To make 5 intervals, use 44 + 5 = 8.8, and
round up to 9 in each interval. To make

7 intervals, use 44 + 7 = 6.3, or 6 numbers in
each interval.

a)

5 intervals
Time
(minutes) 25-33 34-42 | 43-51 52-60 | 61-69
Number of
Students 4 9 6 4 1

Time Taken to Complete
a Fun Run

Number of Students
[9,]

14+ _‘_
0 > VRN Q q

el bn o) o
D w” g QY

Time (min)

b) 7 intervals

UL 25-31 | 32-38 | 39-45 | 46-52 | 53-59 | 60-66 | 67-73
(minutes)
Number of
Students 4 S z 4 2 1 1
Time Taken to Complete
a Fun Run
9
8
w 7
5
T 6
=1
&
% 5
2
g 4
=]
z 51
2__
‘] —_
0 N D O 1 Q9 st
N “ “ )21 )
BT W W
Time (min)
c) The 5-interval histogram is easier to group

and draw than the 7-interval histogram.
But the spread of the data is revealed better
in the 7-interval histogram.
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4 a) Answers vary. Sample: 5. Most of the strawberry plants harvested 16

Group the data into intervals of 4: to 30 kilograms of strawberries. The mass of
strawberries harvested spans from 1 to 30
Length 39 | 10-16 | 17-23 | 24-30 kilograms. So, the range is 29. The histogram has
(centimeters) — - — .
= a tail to the left. Most of the data is to the left of
ls:!;;c'“ . 9 14 4 3 the most frequent value. So, the histogram is left
skewed.
Group the data in intervals of 6: 6. Most of the members are 41 to 70 years old.
Length g - - -~ ~ - The age of the members spans from 21 to 80.
(centimeters) | 3~ | &12 | 1317 | 1822 | 2327 | 2832 The histogram is right skewed.
Species of
Fish 7 10 ¢ 4 2 1

b) Answers vary. Sample:

Histogram 1: Lesson 14.1
Lengths of Different 1.7.95 2. 16.08
Species of Fish 3. 3.76 4. 2.35
5. 15 6. 25
14 7. 9 8. 45
12 9. 21.5°C 10. 20 meters
£ 10 11. Total score
i =12+ 18+ 20 + 15
s 8T — +18+15+16+14
'g 61 I = 128 points
z Mean score = total score
AT " total number of students
2 ¢ - _ 128
T8
° A Ao A = 16 points
EER IR eI 'e . .
N The mean quiz score of the eight students
Length (cm) is 16 points.
12. 7.5 meters
Histogram 2: 13. Mean
Ler;gths‘ of Dfiil‘:.erl"ent total number of cars
12 pecies ot s = total number of months
10 _ 102+80+75+64+143+112
< 6
2 e 576
o =
°
K = 96 cars
a 4T -
w

The mean number of cars sold from January to

2T —|—|7 June was 96 cars.
0 14. 38 seeds

" %/\’L\“)/(\\%/@’Lq};i\m%ﬁm 15. The team scored 1 goal in 1 match.
Length (cm) -1 x1=1goal
) Answers vary. Sample: The team scored 2 goals in 1 match.
The 6-interval histogram is easier to group — 1 %X 2=2goals
and draw than the 4-interval histogram. The team scored 3 goals in 5 matches.

But the spread of the data is revealed better

in the 7-interval histogram. — 5 % 3 =15 goals

The team scored 4 goals in 2 matches.
— 2 x 4 = 8 goals

The team scored 5 goals in 4 matches.
— 4 x 5 = 20 goals
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